Davis & Yam (2011)

The world
$$X_{t} = X_{t} + \sum_{j=0}^{\infty} Y_{j} Z_{t-j} + z_{j-1} Z_{t-1} Z_{t} + z_{j-1} Z_$$

S.m.
$$216(R)$$
 coo $M_{cc} = (\Theta_{cc}, \sigma_{cc}^2)$ $M_{o} = (\Theta_{o}, \sigma_{o}^2)$ $X = (X_{11} X_{12}, ...)$

1.m. Consec. 31
 $1_{o}(R)$

1) Short memory, or $(M_{o}(R) - M_{o}) \stackrel{d}{\longrightarrow} N(O, ...)$
 $1_{o}(R)$

1) Short memory, or $(M_{o}(R) - M_{o}) \stackrel{d}{\longrightarrow} N(O, ...)$
 $1_{o}(R)$

1) Short memory, $1_{o}(R)$

1) Short memory, $1_{o}(R)$

1) $1_{o}(R)$

2) $1_{o}(R)$

GLM
$$L(\beta_{i}, y_{i}) = \frac{y_{i}\theta_{i} - b(\theta_{i})}{\beta_{i}} + c(y_{i}, \beta_{i})$$
 $y_{i} \in \mathbb{R}$

$$L(\beta_{i}, y_{i}) = \sum_{i=1}^{n} \left(\begin{array}{c} \\ \\ \\ \end{array} \right) y_{i}^{i} s \text{ ind it}$$

$$\mu_{i} = \mu_{i}(\beta) = b'(\theta_{i}) \quad g(\mu_{i}) = \chi_{i}^{i} \beta_{i} \quad \chi_{i}^{i} = 0$$

$$MLE \quad \frac{\partial l(\beta_{i}, y_{i})}{\partial \beta_{i}} = \sum_{i=1}^{n} \frac{\partial l_{i}}{\partial \mu_{i}} \frac{\partial \mu_{i}}{\partial \beta_{i}} = \sum_{i=1}^{n} \frac{y_{i} - \mu_{i}}{\beta_{i} V(\mu_{i})} \frac{\chi_{i}^{i}}{g'(\mu_{i})} = 0$$

$$Assume \quad \phi_{i} = \beta a_{i} \quad \text{where } a_{i} \text{ is known}$$

$$Can \quad \text{also use model to Show } \text{var}(Y_{i}) = \beta a_{i} Y(\mu_{i}) \quad \text{for some } V(\cdot)$$

$$E(Y_{i}) = \mu_{i}$$

EXi=pi, var/i= pa; V(pi) examples Yi~N(µ, ,02) a:= | \$= 02 v(p)= 1 $\frac{\partial l}{\partial \beta_r} \sum \frac{y_i - \hat{\mu}_i}{a_i V(\hat{\mu}_i)} \frac{x_{ir}}{g'(\hat{\mu}_i)} = 0 \quad r = 1,..., p$ Yi~Po(μi) V(μi)=μi} a=1 ≠=1 Yi=Ri/mi Ri~Bin(mi,pi) Suppose we instead of using a $V(\mathbf{p}_i) = \underbrace{P_i(1-p_i)}_{\mathbf{p}_i} \phi_{-1}$ GLM, we just use it's m. lequation | var /: = V(p.) as an est'g eg'n: EYi= Pi 1.e. assume E /i= Mi (B) g(mi)=xiB /i~[(2, Mi) Mui)=Mi var /i = \$XiV(pi) & use $\sum \frac{y_i - \mu_i}{a_i v(\mu_i)} \frac{x_{ir}}{g'(\mu_i)} = 0$ as an entig ey'n. a.var $\beta = \beta(XWX)^T$ the soln, B is free of of

$$\beta \sim N(\beta, \phi(XTWX)^{-1}) \qquad (Similar to wt'd LS)$$

$$X = \begin{pmatrix} 2T \\ \vdots \\ 2T \end{pmatrix} \qquad N = \text{diag}(N_i) \qquad N_i = \frac{1}{a_i V(\mu_i) g'(\mu_i)^2}$$

$$U(\beta) = 0 = U(\beta) + (\beta - \beta) \frac{\partial U}{\partial \beta} \qquad \beta \text{ is an 'over-disp.'}$$

$$Parameter$$

$$Same limit dist as in exp'l family$$

$$Po+\beta_i x_i + \beta_i x_i^2 + \beta_i x_i^2$$

$$\text{for they polys.}$$

$$V_i \sim \beta_i \beta_i + P_1(x_i) + P_2(x_i) + P_3(x_i) \qquad \text{model. matrix}(\text{toxogly})$$

$$V_i \sim \beta_i \beta_i + P_1(x_i) + P_2(x_i) + P_3(x_i) \qquad \text{model. matrix}(\text{toxogly})$$

$$V_i \sim \beta_i \beta_i + P_1(x_i) + P_2(x_i) + P_3(x_i) \qquad \text{model. matrix}(\text{toxogly})$$

14.
$$\beta = \frac{1}{2} \frac{\left(y_{1} - \mu_{1}(\beta)\right)^{2}}{(n-p)a_{1}v(\hat{p}_{1})}$$

Pearson estimate

 $\frac{\hat{\beta}_{i} - \hat{\beta}_{i} = 0}{\left[\widetilde{\beta}(X^{T}W^{-1}X^{-1})\right]_{3i}}$ 1.9 Poly (rain, 1) $\hat{\beta} = -.086$ 5.e. $\hat{\beta} = .467 \times [\widetilde{\beta}]$ - .639

Ausi Binom. model denance red. 74.212-62.635 F-test 30 et Ho: B1=B2=B3=0

Binon. 74.212-62.635 = 11.8~123

test of H: BI=BZ=BZ=O under Bin. model.

P 2 0.009

exess variation rel. to Binom.

Very common with prop s & To counts that var (Y:) larger than the model allows i) new model, e.g. negative tinomial, altous for excess 11) use same model, with an 'over hispersion' param. $\sum_{i=1}^{1} \frac{a_i \lambda(h_i)}{\lambda^i - h_i} \frac{\partial k_i}{\partial h_i} = 0$ quasi-likelihood a lop-lik. V(p)=p not [if V(µ)= µ V (µ) = µ (1-µ)/m not log of a density is if V(h)=h2

If each
$$y_i = (y_{i1}, -, y_{ini})$$
 eg. longitudinal data

$$E(y_i) = y_{i1}(g) \quad var(y_i) = \emptyset \bigvee_{n \in n_i} (p_{in}, g_i)$$

$$ike a glm, but for possibly dependent components$$

$$y_{ij} \quad j \quad indexes \quad time, or group, or...$$

$$S(ore eg^{\frac{1}{5}}) = \frac{n}{(p_i)} \bigvee_{i = 1} (y_{ii} - y_{ii}) \bigvee_{i = 1} (y_{ii} - y_{ii}) \bigvee_{i \in n_i} (y_{ii} - y_$$